

Iterative Schemes for a Family of Finite Asymptotically Pseudocontractive Mappings in Banach Spaces

GU Feng^{1,2}

(1. Institute of Applied Mathematics, Hangzhou Normal University, Zhejiang 310036, China;

2. Department of Mathematics, Hangzhou Normal University, Zhejiang 310036, China)

(E-mail: gufeng99@sohu.com)

Abstract Let E be a real Banach space and K be a nonempty closed convex and bounded subset of E . Let $T_i : K \rightarrow K$, $i = 1, 2, \dots, N$, be N uniformly L -Lipschitzian, uniformly asymptotically regular with sequences $\{\varepsilon_n^{(i)}\}$ and asymptotically pseudocontractive mappings with sequences $\{k_n^{(i)}\}$, where $\{k_n^{(i)}\}$ and $\{\varepsilon_n^{(i)}\}$, $i = 1, 2, \dots, N$, satisfy certain mild conditions. Let a sequence $\{x_n\}$ be generated from $x_1 \in K$ by $z_n := (1 - \mu_n)x_n + \mu_n T_n^n x_n$, $x_{n+1} := \lambda_n \theta_n x_1 + [1 - \lambda_n(1 + \theta_n)]x_n + \lambda_n T_n^n z_n$ for all integer $n \geq 1$, where $T_n = T_{n(\text{mod } N)}$, and $\{\lambda_n\}$, $\{\theta_n\}$ and $\{\mu_n\}$ are three real sequences in $[0, 1]$ satisfying appropriate conditions. Then $\|x_n - T_l x_n\| \rightarrow 0$ as $n \rightarrow \infty$ for each $l \in \{1, 2, \dots, N\}$. The results presented in this paper generalize and improve the corresponding results of Chidume and Zegeye^[1], Reiner mann^[10], Rhoades^[11] and Schu^[13].

Keywords approximated fixed point sequence; uniformly asymptotically regular mapping; asymptotically pseudocontractive mapping.

Document code A

MR(2000) Subject Classification 47H06; 47H09; 47J05

Chinese Library Classification O177.91

1. Introduction and preliminaries

Let E be a real normed linear space and E^* its dual space. Let $J : E \rightarrow 2^{E^*}$ be the normalized duality mapping defined by $J(x) = \{f \in E^* : \langle x, f \rangle = \|x\|^2, \|x\| = \|f\|\}$, $x \in E$, where $\langle \cdot, \cdot \rangle$ denotes the generalized duality pairing. It is well known that if E^* is strictly convex, then J is single-valued. In the sequel, we shall denote the single-valued normalized duality mapping by j .

Let E be a normed linear space, $\emptyset \neq K \subset E$. A mapping $T : K \rightarrow K$ is said to be nonexpansive if for all $x, y \in K$ we have $\|Tx - Ty\| \leq \|x - y\|$. It is said to be uniformly L -Lipschitzian if there exists $L > 0$ such that $\|T^n x - T^n y\| \leq L\|x - y\|$ for all integers $n \geq 1$ and all $x, y \in K$. It is said to be asymptotically nonexpansive if there exists a sequence $\{k_n\}$ with $k_n \geq 1$ and $\lim_{n \rightarrow \infty} k_n = 1$ such that $\|T^n x - T^n y\| \leq k_n\|x - y\|$ for all integers $n \geq 1$ and all $x, y \in K$. Clearly, every nonexpansive mapping is asymptotically nonexpansive with sequence $k_n \equiv 1$, $\forall n \geq 1$. There are however, asymptotically nonexpansive mappings which are not nonexpansive^[4].

Received date: 2007-06-07; **Accepted date:** 2007-10-30

Foundation item: the National Natural Science Foundation of China (No.10771141); the Natural Science Foundation of Zhejiang Province (Y605191); the Natural Science Foundation of Heilongjiang Province (No. A0211) and the Scientific Research Foundation from Zhejiang Province Education Committee (No. 20051897).

The class of asymptotically nonexpansive mappings was introduced by Goebel and Kirk^[3] in 1972 and has been studied by several authors^[5, 11–13, 15].

Let K be a subset of real Banach space E and $T : K \rightarrow E$ any mapping. T is said to be asymptotically pseudocontractive if there exists a sequence $\{k_n\} \subset [1, +\infty)$ such that $\lim_{n \rightarrow \infty} k_n = 1$, and there exists $j(x - y) \in J(x - y)$ such that the inequality $\langle T^n x - T^n y, j(x - y) \rangle \leq k_n \|x - y\|^2$ holds for all integers $n \geq 1$ and all $x, y \in K$. It is easy to know that every asymptotically nonexpansive mapping is asymptotically pseudocontractive mapping.

The class of asymptotically pseudocontractive mappings was introduced by Schu^[14] and has been studied by various authors.

The mapping T is called uniformly asymptotically regular if for each $\varepsilon > 0$ there exists integer $n_0 \in \mathbb{N}$, such that $\|T^{n+1}x - T^n x\| \leq \varepsilon$ for all $n \geq n_0$ and all $x \in K$ and it is called uniformly asymptotically regular with sequence $\{\varepsilon_n\}$ if $\|T^{n+1}x - T^n x\| \leq \varepsilon_n$ for all integers $n \geq 1$ and all $x \in K$, where $\varepsilon_n \rightarrow 0$ as $n \rightarrow \infty$.

A family of mappings $\{T_i\}_{i=1}^N$ is called uniformly asymptotically regular if for each $\varepsilon > 0$ there exists integer $n_0 \in \mathbb{N}$, such that $\max_{1 \leq i, j \leq N} \|T_i^{n+1}x - T_j^n x\| \leq \varepsilon$ for all $n \geq n_0$ and all $x \in K$ and the mapping family $\{T_i\}_{i=1}^N$ is called uniformly asymptotically regular with sequence $\{\varepsilon_n\}$ if $\max_{1 \leq i, j \leq N} \{\|T_i^{n+1}x - T_j^n x\|\} \leq \varepsilon_n$ for all integers $n \geq 1$ and all $x \in K$, where $\varepsilon_n \rightarrow 0$ as $n \rightarrow \infty$.

Let K be a nonempty closed convex and bounded subset of a real Banach space E . A mapping $T : K \rightarrow K$ is called pseudocontractive if there exists $j(x - y) \in J(x - y)$ such that

$$\langle Tx - Ty, j(x - y) \rangle \leq \|x - y\|^2, \tag{1.1}$$

for all $x, y \in K$. It follows from a result of Kato^[6] that the inequality (1.1) is equivalent to

$$\|x - y\| \leq \|x - y + t((I - T)x - (I - T)y)\| \tag{1.2}$$

for all $x, y \in K$ and all $t > 0$, where I denotes the identity mapping.

A mapping T is called strongly pseudocontractive if for each $x, y \in D(T)$, there exists $j(x - y) \in J(x - y)$ and $k \in (0, 1)$ such that $\langle Tx - Ty, j(x - y) \rangle \leq k \|x - y\|^2$.

Any sequence $\{x_n\}$ satisfying that $\|x_n - T_l x_n\| \rightarrow 0$ as $n \rightarrow \infty$ for each $l \in \{1, 2, \dots, N\}$, is called an approximate fixed point sequence for a family mappings $\{T_i\}_{i=1}^N$.

The importance of approximate fixed point sequences is that once a sequence has been constructed and proved to be an appropriate fixed point sequence for a continuous mapping T , convergence of that sequence to a fixed point of T is then generally achieved.

For an asymptotically pseudocontractive self-mapping T of a nonempty closed convex and bounded subset of a Hilbert space H , Schu^[13] proved the following theorem:

Theorem S^[13] *Let H be a Hilbert space, $K \subset E$ be nonempty closed convex and bounded. Let T be a uniformly L -Lipschitzian and asymptotically pseudocontractive self-mapping of K with $\{k_n\} \subset [1, \infty)$; $\sum(q_n^2 - 1) < \infty$, where $q_n = (2k_n - 1)$ for all $n \geq 1$, $\alpha_n, \beta_n \in [0, 1]$, $\varepsilon \leq \alpha_n \leq \beta_n \leq b$ for all integers $n \geq 1$ and some $\varepsilon > 0$; and some $b \in (0, L^{-1}[(1 + L^2)^{1/2} - 1])$; pick $x_0 \in K$; and define $x_{n+1} := \alpha_n T^n z_n + (1 - \alpha_n)x_n$; $z_n = \beta_n T^n x_n + (1 - \beta_n)x_n$ for all $n \geq 0$.*

Then $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$.

In 2003, Chidume and Zegeye^[1] constructed an approximate fixed point sequence for the class of asymptotically pseudocontractive mappings in Banach spaces and proved the following theorem:

Theorem CZ^[1] *Let K be a nonempty closed convex and bounded subset of a real Banach space E . Let $T : K \rightarrow K$ be a uniformly L -Lipschitzian, uniformly asymptotically regular with sequence $\{\varepsilon_n\}$ and asymptotically pseudocontractive with sequence $\{k_n\}$ such that for $\lambda_n, \theta_n \in (0, 1)$, $\forall n \geq 0$, and satisfying the conditions: (i) $\lambda_n(1 + \theta_n) \leq 1$, $\sum_{n=1}^{\infty} \lambda_n \theta_n = \infty$; (ii) $\theta_n \rightarrow 0$, $\frac{\lambda_n}{\theta_n} \rightarrow 0$, $(\frac{\theta_n-1}{\theta_n} - 1)/\lambda_n \theta_n \rightarrow 0$, $\frac{\varepsilon_n-1}{\lambda_n \theta_n^2} \rightarrow 0$; (iii) $k_{n-1} - k_n = o(\lambda_n \theta_n^2)$; (iv) $k_n - 1 = o(\theta_n)$. Let a sequence $\{x_n\}$ be iteratively generated from $x_1 \in K$*

$$x_{n+1} := \lambda_n \theta_n x_1 + [1 - \lambda_n(1 + \theta_n)]x_n + \lambda_n T^n x_n, \quad \forall n \geq 1, n \in \mathbb{N}. \quad (1.3)$$

Then $\|x_n - Tx_n\| \rightarrow 0$ as $n \rightarrow \infty$.

In this paper, we introduce a new two-step iteration process as follows:

$$\begin{cases} x_{n+1} := \lambda_n \theta_n x_1 + [1 - \lambda_n(1 + \theta_n)]x_n + \lambda_n T_n^n z_n, \\ z_n := (1 - \mu_n)x_n + \mu_n T_n^n x_n, \quad n \geq 1, \end{cases} \quad (1.4)$$

where $\{T_i\}_{i=1}^N : K \rightarrow K$, are N asymptotically pseudocontractive mappings, $T_n = T_{n(\text{mod } N)}$, $\{\lambda_n\}$, $\{\theta_n\}$ and $\{\mu_n\}$ are three real sequences in $[0, 1]$ satisfying $\lambda_n(1 + \theta_n) \leq 1$ for all $n \geq 1$ and x_0 is a given point in K .

Especially, if $\{\lambda_n\}$, $\{\theta_n\}$ are two sequences in $[0, 1]$ satisfying $\lambda_n(1 + \theta_n) \leq 1$ for all $n \geq 1$ and x_0 is a given point in K , then the sequence $\{x_n\}$ is defined by

$$x_{n+1} := \lambda_n \theta_n x_1 + [1 - \lambda_n(1 + \theta_n)]x_n + \lambda_n T_n^n x_n, \quad \forall n \geq 1. \quad (1.5)$$

Remark 1.1 If $T_1 = T_2 = \dots = T_N = T$ or $N = 1$, then (1.5) reduces to (1.3).

The purpose of this paper is to construct an approximate fixed point sequence for a finite family of asymptotically pseudocontractive mappings $\{T_i\}_{i=1}^N$ in Banach spaces. The results presented in this paper generalize and improve the corresponding results of Chidume and Zegeye^[1], Reinerma^[10], Rhoades^[11] and Schu^[13].

In order to prove the main result of this paper, we need the following Lemmas:

Lemma 1.1^[2,8] *Let E be a real normed linear space. Then for any $x, y \in E$ and $j(x + y) \in J(x + y)$, we have $\|x + y\|^2 \leq \|x\|^2 + 2\langle y, j(x + y) \rangle$.*

Lemma 1.2^[7] *Let $\{\rho_n\}$, $\{\sigma_n\}$ and $\{\alpha_n\}$ be three sequences of nonnegative numbers satisfying the conditions $\lim_{n \rightarrow \infty} \alpha_n = 0$, $\sum_{n=1}^{\infty} \alpha_n = \infty$, and $\frac{\sigma_n}{\alpha_n} \rightarrow 0$, as $n \rightarrow \infty$. Let the recursive inequality $\rho_{n+1}^2 \leq \rho_n^2 - \alpha_n \psi(\rho_{n+1}) + \sigma_n$, $n \geq 1$ be given, where $\psi : [0, +\infty) \rightarrow [0, +\infty)$ is a strictly increasing function such that it is positive on $(0, +\infty)$ and $\psi(0) = 0$. Then $\rho_n \rightarrow 0$ as $n \rightarrow \infty$.*

2. Main results

Lemma 2.1 *Let E be a real Banach space, and K be a nonempty closed convex and bounded*

subset of E . Let $\{T_i\}_{i=1}^N : K \rightarrow K$ be N uniformly asymptotically regular, uniformly L -Lipschitzian and asymptotically pseudocontractive mappings with sequences $\{k_n^{(i)}\}$, $i = 1, 2, \dots, N$. Then for $u \in K$ and $t_n \in (0, 1)$ such that $t_n \rightarrow 1$ as $n \rightarrow \infty$, there exists a sequence $\{y_n\} \subset K$ satisfying the following condition:

$$y_n = \frac{t_n}{k_n} T_n^n y_n + \left(1 - \frac{t_n}{k_n}\right) u, \tag{2.1}$$

where $k_n = \max\{k_n^{(1)}, k_n^{(2)}, \dots, k_n^{(N)}\}$, $T_n = T_{n(\text{mod } N)}$. Furthermore, we have $\|y_n - T_n y_n\| \rightarrow 0$, as $n \rightarrow \infty$.

Proof Since $T_i : K \rightarrow K$, $i = 1, 2, \dots, N$, is uniformly L -Lipschitzian, there exists $L_i > 0$, $i = 1, 2, \dots, N$ such that $\|T_i^n x - T_i^n y\| \leq L_i \|x - y\| \leq L \|x - y\|$ for all $n \geq 1$ and all $x, y \in K$, where $L = \max\{L_1, L_2, \dots, L_N\}$.

For each $n \geq 1$, define the mapping $S_n : K \rightarrow K$ by $S_n(y) := \frac{t_n}{k_n} T_n^n y + (1 - \frac{t_n}{k_n})u$. Then $S_n : K \rightarrow K$ is continuous and strongly pseudocontractive. Therefore, by Theorem 5 of Reich^[9], S_n has a unique fixed point (say) $y_n \in K$. This means that the equation $y_n = \frac{t_n}{k_n} T_n^n y_n + (1 - \frac{t_n}{k_n})u$ has a unique solution for each $t_n \in (0, 1)$. Moreover, since K is bounded, we have that

$$\begin{aligned} \|y_n - T_n^n y_n\| &= \left\| \left(1 - \frac{t_n}{k_n}\right) u + \left(\frac{t_n}{k_n} - 1\right) T_n^n y_n \right\| \\ &= \left(1 - \frac{t_n}{k_n}\right) \|u - T_n^n y_n\| \rightarrow 0 \text{ as } n \rightarrow \infty. \end{aligned} \tag{2.2}$$

Thus

$$\begin{aligned} \|y_n - T_n y_n\| &= \left\| \left(1 - \frac{t_n}{k_n}\right) (u - T_n y_n) + \frac{t_n}{k_n} (T_n^n y_n - T_n y_n) \right\| \\ &\leq \left(1 - \frac{t_n}{k_n}\right) \|u - T_n y_n\| + \frac{t_n}{k_n} \|T_n^n y_n - T_n^{n+1} y_n\| + \frac{t_n}{k_n} L \|T_n^n y_n - y_n\|. \end{aligned} \tag{2.3}$$

In view of the uniformly asymptotic regularity of $\{T_i\}_{i=1}^N$, it follows from (2.2) and (2.3) that $\|y_n - T_n y_n\| \rightarrow 0$ as $n \rightarrow \infty$. □

Theorem 2.2 Let K be a nonempty closed convex and bounded subset of a real Banach space E . Let $\{T_i\}_{i=1}^N : K \rightarrow K$ be N uniformly L -Lipschitzian, asymptotically pseudocontractive with sequence $\{k_n^{(i)}\}$, $i = 1, 2, \dots, N$, and uniformly asymptotically regular with sequence $\{\varepsilon_n\}$. Let $\{\lambda_n\}$, $\{\theta_n\}$ and $\{\mu_n\}$ be three real sequences in $[0, 1]$ satisfying the following conditions:

- (i) $\lambda_n(1 + \theta_n) \leq 1$, $\sum_{n=1}^{\infty} \lambda_n \theta_n = \infty$;
- (ii) $\theta_n \rightarrow 0$, $\frac{\lambda_n}{\theta_n} \rightarrow 0$, $\frac{\mu_n}{\theta_n} \rightarrow 0$, $\frac{|\frac{\theta_n-1}{\lambda_n \theta_n} - 1|}{\lambda_n \theta_n} \rightarrow 0$, $\frac{\varepsilon_n - 1}{\lambda_n \theta_n^2} \rightarrow 0$;
- (iii) $|k_{n-1} - k_n| = o(\lambda_n \theta_n^2)$;
- (iv) $k_n - 1 = o(\theta_n)$.

Where $k_n = \max\{k_n^{(1)}, k_n^{(2)}, \dots, k_n^{(N)}\}$. Suppose further that $x_1 \in K$ is any given point and $\{x_n\}$ is the iterative sequence defined by (1.4). Then $\|x_n - T_l x_n\| \rightarrow 0$ as $n \rightarrow \infty$ for each $l \in \{1, 2, \dots, N\}$.

Proof Let $\{y_n\}$ denote the sequence defined as in (2.1) with $t_n = \frac{1}{1+\theta_n}$ and $u = x_1$. Then from

(1.4) and Lemma 1.1 we get the following estimates:

$$\begin{aligned}
\|x_{n+1} - y_n\|^2 &= \|x_n - y_n - \lambda_n((x_n - T_n^n z_n) + \theta_n(x_n - x_1))\|^2 \\
&\leq \|x_n - y_n\|^2 - 2\lambda_n \langle (x_n - T_n^n z_n) + \theta_n(x_n - x_1), j(x_{n+1} - y_n) \rangle \\
&= \|x_n - y_n\|^2 - 2\lambda_n \theta_n \|x_{n+1} - y_n\|^2 + \\
&\quad 2\lambda_n \langle \theta_n(x_{n+1} - x_n) - (x_n - T_n^n z_n) + \theta_n(x_1 - y_n), j(x_{n+1} - y_n) \rangle \\
&\leq \|x_n - y_n\|^2 - 2\lambda_n \theta_n \|x_{n+1} - y_n\|^2 + \\
&\quad 2\lambda_n \left\langle \theta_n(x_{n+1} - x_n) + \left[\theta_n(x_1 - y_n) - \left(y_n - \frac{1}{k_n} T_n^n y_n \right) \right] - \right. \\
&\quad \left[\left(x_{n+1} - \frac{1}{k_n} T_n^n x_{n+1} \right) - \left(y_n - \frac{1}{k_n} T_n^n y_n \right) \right] + \\
&\quad \left. \left[\left(x_{n+1} - \frac{1}{k_n} T_n^n x_{n+1} \right) - (x_n - T_n^n z_n) \right], j(x_{n+1} - y_n) \right\rangle. \tag{2.4}
\end{aligned}$$

Observe that from the properties of y_n and the asymptotical pseudocontractivity of T_n , we get that

$$\theta_n(x_1 - y_n) - \left(y_n - \frac{1}{k_n} T_n^n y_n \right) + \left(1 - \frac{1}{k_n} \right) x_1 = 0 \tag{2.5}$$

and

$$\left\langle \left(x_{n+1} - \frac{1}{k_n} T_n^n x_{n+1} \right) - \left(y_n - \frac{1}{k_n} T_n^n y_n \right), j(x_{n+1} - y_n) \right\rangle \geq 0. \tag{2.6}$$

Combining (2.5), (2.6) and (2.4) we have

$$\begin{aligned}
\|x_{n+1} - y_n\|^2 &\leq \|x_n - y_n\|^2 - 2\lambda_n \theta_n \|x_{n+1} - y_n\|^2 + \\
&\quad 2\lambda_n \left\langle (\theta_n + 1)(x_{n+1} - x_n) - \frac{1}{k_n} (T_n^n x_{n+1} - T_n^n z_n) + \frac{k_n - 1}{k_n} (T_n^n z_n - x_1), j(x_{n+1} - y_n) \right\rangle - \\
&\quad 2\lambda_n \left\langle \left(x_{n+1} - \frac{1}{k_n} T_n^n x_{n+1} \right) - \left(y_n - \frac{1}{k_n} T_n^n y_n \right), j(x_{n+1} - y_n) \right\rangle \\
&\leq \|x_n - y_n\|^2 - 2\lambda_n \theta_n \|x_{n+1} - y_n\|^2 + \\
&\quad 2\lambda_n \left[(\theta_n + 1) \|x_{n+1} - x_n\| + \frac{1}{k_n} \|T_n^n z_n - T_n^n x_{n+1}\| + \frac{k_n - 1}{k_n} \|T_n^n z_n - x_1\| \right] \cdot \|x_{n+1} - y_n\| \\
&\leq \|x_n - y_n\|^2 - 2\lambda_n \theta_n \|x_{n+1} - y_n\|^2 + \\
&\quad 2\lambda_n \left[(2 + L) \|x_{n+1} - x_n\| + L \|z_n - x_n\| + \frac{k_n - 1}{k_n} (\|T_n^n z_n\| + \|x_1\|) \right] \cdot \|x_{n+1} - y_n\|. \tag{2.7}
\end{aligned}$$

Notice the fact that $x_{n+1} - x_n = \lambda_n \theta_n x_1 - \lambda_n (1 + \theta_n) x_n + \lambda_n T_n^n z_n = \lambda_n u_n$ and $z_n - x_n = \mu_n (T_n^n x_n - x_n) = \mu_n v_n$, where $u_n = \theta_n x_1 - (1 + \theta_n) x_n + T_n^n z_n$, $v_n = T_n^n x_n - x_n$. Since K is bounded, which implies that $\{x_n\}$, $\{y_n\}$, $\{z_n\}$, $\{T_n^n x_n\}$ and $\{T_n^n z_n\}$ are all bounded, there exists $M_1 > 0$ such that

$$\max\{\|x_{n+1} - y_n\|, \|u_n\|, \|v_n\|, \|T_n^n z_n\| + \|x_1\|\} \leq M_1, \tag{2.8}$$

and so

$$\|x_{n+1} - x_n\| = \lambda_n \|u_n\| \leq \lambda_n M_1, \quad \|z_n - x_n\| = \mu_n \|v_n\| \leq \mu_n M_1. \tag{2.9}$$

Substituting (2.8) and (2.9) into (2.7), we have

$$\|x_{n+1} - y_n\|^2 \leq \|x_n - y_n\|^2 - 2\lambda_n \theta_n \|x_{n+1} - y_n\|^2 +$$

$$2(2 + L)\lambda_n^2 M_1^2 + 2\lambda_n L\mu_n M_1^2 + 2\lambda_n \frac{k_n - 1}{k_n} M_1^2. \tag{2.10}$$

Moreover, observe that $\bar{T} := \frac{1}{k_n} T_n^n$ is pseudocontractive. Thus it follows from (1.2) that

$$\begin{aligned} \|y_{n-1} - y_n\| &\leq \left\| y_{n-1} - y_n + \frac{1}{\theta_n} [(I - \bar{T})y_{n-1} - (I - \bar{T})y_n] \right\| \\ &= \left\| \left(\frac{\theta_{n-1}}{\theta_n} - 1 \right) (x_1 - y_{n-1}) + \frac{1}{\theta_n k_{n-1}} (T_{n-1}^{n-1} y_{n-1} - T_n^n y_{n-1}) + \frac{1}{\theta_n} \left(\frac{1}{k_{n-1}} - \frac{1}{k_n} \right) (T_n^n y_{n-1} - x_1) \right\| \\ &\leq \left| \frac{\theta_{n-1}}{\theta_n} - 1 \right| (\|x_1\| + \|y_{n-1}\|) + \frac{\varepsilon_{n-1}}{\theta_n k_{n-1}} + \frac{1}{\theta_n} \frac{|k_n - k_{n-1}|}{k_n k_{n-1}} (\|T_n^n y_{n-1}\| + \|x_1\|). \end{aligned} \tag{2.11}$$

Because $\{x_n\}$, $\{y_n\}$, $\{T_n^n x_n\}$, $\{T_n^n y_n\}$ and $\{T_n^n y_{n-1}\}$ are bounded, there exists $M_2 > 0$ such that $\max\{2(\|x_n - y_{n-1}\| + \|y_{n-1} - y_n\|), \|x_1\| + \|y_{n-1}\|, \|T_n^n y_{n-1}\| + \|x_1\|\} \leq M_2$. Notice that

$$\|x_n - y_n\|^2 \leq (\|x_n - y_{n-1}\| + \|y_{n-1} - y_n\|)^2 \leq \|x_n - y_{n-1}\|^2 + \|y_{n-1} - y_n\| \cdot M_2. \tag{2.12}$$

Combining (2.11), (2.12) and (2.10), we get

$$\begin{aligned} \|x_{n+1} - y_n\|^2 &\leq \|x_n - y_{n-1}\|^2 - 2\lambda_n \theta_n \|x_{n+1} - y_n\|^2 + 2\lambda_n L\mu_n M_1^2 + \\ &\quad 2(2 + L)\lambda_n^2 M_1^2 + 2\lambda_n (k_n - 1) M_1^2 + \left| \frac{\theta_{n-1}}{\theta_n} - 1 \right| M_2^2 + \\ &\quad \frac{\varepsilon_{n-1}}{\theta_n k_{n-1}} M_2 + \frac{1}{\theta_n} \frac{|k_n - k_{n-1}|}{k_n k_{n-1}} M_2^2. \end{aligned} \tag{2.13}$$

Thus by Lemma 1.2 and the conditions (i)-(iv) on $\{\lambda_n\}$, $\{\theta_n\}$, $\{\mu_n\}$, $\{k_n\}$ and $\{\varepsilon_n\}$ we get $\|x_{n+1} - y_n\| \rightarrow 0$ as $n \rightarrow \infty$. Consequently, $\|x_n - y_n\| \rightarrow 0$ as $n \rightarrow \infty$.

Next we prove that $\|x_n - T_l x_n\| \rightarrow 0$ as $n \rightarrow \infty$ for each $l \in \{1, 2, \dots, N\}$. Indeed, by Lemma 2.1 we have that $\|y_n - T_n y_n\| \rightarrow 0$ as $n \rightarrow \infty$. Thus

$$\begin{aligned} \|x_n - T_n x_n\| &\leq \|x_n - y_n\| + \|y_n - T_n y_n\| + \|T_n y_n - T_n x_n\| \\ &\leq L(1 + L)\|x_n - y_n\| + \|y_n - T_n y_n\| \rightarrow 0 \text{ as } n \rightarrow \infty. \end{aligned} \tag{2.14}$$

From the condition $\lambda_n \rightarrow 0$ as $n \rightarrow \infty$ and (2.9) we have $\|x_{n+1} - x_n\| \leq \lambda_n M_1 \rightarrow 0$ as $n \rightarrow \infty$, and so $\|x_n - x_{n+l}\| \rightarrow 0$ as $n \rightarrow \infty$ for each $l \in \{1, 2, \dots, N\}$. Thus, for each $l \in \{1, 2, \dots, N\}$, from (2.14) we have

$$\begin{aligned} \|x_n - T_{n+l} x_n\| &\leq \|x_n - x_{n+l}\| + \|x_{n+l} - T_{n+l} x_{n+l}\| + \|T_{n+l} x_{n+l} - T_{n+l} x_n\| \\ &\leq (1 + L)\|x_n - x_{n+l}\| + \|x_{n+l} - T_{n+l} x_{n+l}\| \rightarrow 0 \text{ as } n \rightarrow \infty, \end{aligned}$$

which implies that the sequence $\bigcup_{l=1}^N \{\|x_n - T_{n+l} x_n\|\}_{n=1}^\infty \rightarrow 0$ as $n \rightarrow \infty$. For each $l \in \{1, 2, \dots, N\}$, observe that

$$\begin{aligned} \{\|x_n - T_l x_n\|\}_{n=1}^\infty &= \{\|x_n - T_{n+(l-n)} x_n\|\}_{n=1}^\infty \\ &= \{\|x_n - T_{n+l_n} x_n\|\}_{n=1}^\infty \subset \bigcup_{l=1}^N \{\|x_n - T_{n+l} x_n\|\}_{n=1}^\infty, \end{aligned}$$

where $l - n = l_n \pmod N$, $l_n \in \{1, 2, \dots, N\}$. Therefore, we have $\|x_n - T_l x_n\| \rightarrow 0$ as $n \rightarrow \infty$. This completes the proof of Theorem 2.2. \square

Remark 2.1 If $\mu_n \equiv 0$ in Theorem 2.2, then $z_n = x_n$, hence we can obtain corresponding results of the iterative process (1.5), which is omitted here.

Remark 2.2 If $T_1 = T_2 = \dots = T_N = T$ or $N = 1$ in Theorem 2.2, then we can obtain corresponding results, which is omitted here.

Remark 2.3 Theorem 2.2 is a generalization of Theorem CZ, that is, if $\mu_n \equiv 0$ and $T_1 = T_2 = \dots = T_N = T$ or $N = 1$, then Theorem 2.2 will reduce to Theorem CZ.

Remark 2.4 Theorem 2.2 also improves and extends the corresponding results of Reiner mann^[10], Rhoades^[11] and Schu^[13].

References

- [1] CHIDUME C E, ZEGEYE H. *Approximate fixed point sequences and convergence theorems for asymptotically pseudocontractive mappings* [J]. J. Math. Anal. Appl., 2003, **278**(2): 354–366.
- [2] CHIDUME C E, ZEGEYE H, NTATIN B. *A generalized steepest descent approximation for the zeros of m -accretive operators* [J]. J. Math. Anal. Appl., 1999, **236**(1): 48–73.
- [3] GOEBEL K, KIRK W A. *A fixed point theorem for asymptotically nonexpansive mappings* [J]. Proc. Amer. Math. Soc., 1972, **35**: 171–174.
- [4] GOEBEL K, KIRK W A. *Topics in Metric Fixed Point Theory* [M]. Cambridge University Press, Cambridge, 1990.
- [5] GÓRNICKI J. *Weak convergence theorems for asymptotically nonexpansive mappings in uniformly convex Banach spaces* [J]. Comment. Math. Univ. Carolin., 1989, **30**(2): 249–252.
- [6] KATO T. *Nonlinear semi-groups and evolution equations* [J]. J. Math. Soc. Japan, 1967, **19**: 508–520.
- [7] MOORE C, NNOLI B V C. *Iterative solution of nonlinear equations involving set-valued uniformly accretive operators* [J]. Comput. Math. Appl., 2001, **42**(1-2): 131–140.
- [8] MORALES C H, JUNG J S. *Convergence of paths for pseudocontractive mappings in Banach spaces* [J]. Proc. Amer. Math. Soc., 2000, **128**(11): 3411–3419.
- [9] REICH S. *Iterative Methods for Accretive Sets* [M]. Birkhäuser, Basel-Boston, Mass., 1978.
- [10] REINERMANN J. *Über fixpunkte kontrahierender Abbildungen und schwach konvergente Toeplitz-Verfahren* [J]. Arch. Math. (Basel), 1969, **20**: 59–64. (in German)
- [11] RHOADES B E. *Comments on two fixed point iteration methods* [J]. J. Math. Anal. Appl., 1976, **56**(3): 741–750.
- [12] RHOADES B E. *Fixed point iterations for certain nonlinear mappings* [J]. J. Math. Anal. Appl., 1994, **183**(1): 118–120.
- [13] SCHU J. *Iterative construction of fixed points of asymptotically nonexpansive mappings* [J]. J. Math. Anal. Appl., 1991, **158**(2): 407–413.
- [14] SCHU J. *Approximation of fixed points of asymptotically nonexpansive mappings* [J]. Proc. Amer. Math. Soc., 1991, **112**(1): 143–151.
- [15] SCHU J. *Weak and strong convergence to fixed points of asymptotically nonexpansive mappings* [J]. Bull. Austral. Math. Soc., 1991, **43**(1): 153–159.